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Instructions :
(i) All questions arc compulsory. Internal options are given in each question

Nos. § to 18.

(i) [Each question from Question Nos. | to 4 carry § marks and each sub-question
carries 1 mark.

(iiiy Fach question from Question Nos. § to 7 carry 2 marks and word limit for each

answer is approx. 30 words.

(iv) Tach question from Question Nos. 8 to 10 carry 3 marks and word limit for
cuch answer is approx. 78 words.

(v) Each question from Question Nos. 11 to 15 carry 4 marks and word limit for
cach answer is approx. 120 words.

(vi) Each question from Question Nos. 16 to 18 carry 5 marks and word limit for

each answer is approx. 150 words.

(vii) Draw neat and labelled diagrams wherever necessary.

1 vdw v 4 Ra W P 4 ¥ wh faemn gaat fafeR 1x5=5
(a7) ﬁﬂ“%ﬂ?ﬁmﬁuﬁﬁ%@hﬁﬁm@%@m%m
® o BT & ) -
(iy 0° (i) 180°
(iii) 90° (iv) 270°
(@ Ry & Ry @ A ot B frgell ¥ W g ghedw e
2Q 20
A B
2Q 202
(iy B 3w (i) 4 M
(iii) 2 S (iv) 1 oW
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(@) wafs = gqw ¥ g AT W AR
(i) % A ek na oF T T Aafrr grada
{@.ﬁmmqﬁam@-mm
A @ ar srads e mm A O wieie quad
(iv) &% TR orggdw md #¢ a0 Q90 iafls gued
(®) Y& & FHR T Fmn ¥

(i) 10710 e (i) 10 1% drex
(iii) 10718 drzx (iv) 1010 3
(%) wefBw e ¥
(i) OR % (i) AND =
(iii) NOT =z | (iv) NAND 2
had

Select and write the correct option trom the options given in each question :

(a) The angle between electric field and dipole moment of an axial

position of the electric dipole.
(i) 0° ' (i1) 180°
(iii) 90° (iv) 270°

(b) The equivalent resistance between point A and B given in fig.

B
(i) 8 ohm - (i) 4 ohmn
(iti) 2 ohm (iv) 1 ohm
210 | / ES-8018 3 AR e R r.1.0.
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(c) Optical ray in primary rinbow becomes
(iy One time refraction apd one time lotal internal refiecton.
(i) Two time refraction and two time total intemal reflection.
(iti) Two time retraction und de time total intemnal reflection.
(iv) Many time refraction und many time total internal reflection.
(d) The size of the nucleus is of the order of

Gy 1010 m q6) 1015 m
(iii) 1078 m vy 1019 ¢m
(¢) Universal gate is :

e

(1) OR gate @) AND gate

(ifi) NOT gate a'v) NAND gate
2 T we & gfd Fifeg 1x5=5
() wO ¥ oy aeh Rrge s A gy wRh ¥ o
(i) ol wgw gewd % R omdd @ @ qg"____#_u_f% o
(iii) 7@ # T WPk H wERE 3& . Hvwdm g v
(iv) it & =@ H @« - - B O
(v) drerw Prims % ww A 0SS w gwdm g b
Fill in the blanks : -
(i) Frequency of household electric current is L
(i1) Formula for magnifying power %‘c}:ompéund microscope is
(i1i) Wave naturc of maltter is cxpcf}:ji}entéll"pr(>(ut' givenby
(iv) Neutron in a nucleus is discr;:u;'cd by
(v) As a voltage regulator ;“_'“‘.“‘:_Iiudc i$ used,
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. . 1]
@ e & Ao & RS o)
(87) W W wie @ E=pl
: PG
c Gy S=-F5
&), 27T

Select the appropriate option f[om column ‘B* for each statement of
column A’ and match the correct pairs :

wod durjuopreoqdur mmam//:dny

Column "A" (7% Column "B"
(a) Meter bridge - fiy R = Roa'3
| oL
(by Value of shunt | () YT cpt
4. , €,4
(¢) Speed of light (i) C =
1;1;5":
, l,
(dy Radius of nucleus fiv) R=215 (100-1)

(e) Paralicl plate capacitor ({%.) E=pl

[P .
(%1} [
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At gEBa A B F gy fafa

(@) afEn ST TN WM ST e @ g ¥ R fufyre graysl g
% aw wa@ v ¥ ¢ o

(@) AREEA W YH - faga aqmrr fefeo

(%) WﬁW*ﬁWmﬁ%m'_mﬁxﬁ1¢;W%
wRE B aghd & fee awry fafeo o

(3) = ofae® o & fFgm & qem & ¥ 7

Give answer of each question in one sentence :

(a) Write the expression for magnetic field 'B’ intensity duc to
current ‘1" carrying solenoid.

(b) Welders wear special glass goggles to protect their eyes. Why ?

(c) Write Einstein’s photo-electric equation.

(d) Write the expression for frequency of emitted photon in the process
of jumping of electron from higher energy state to lower energy

state of an atom.

(e) Can semiconductor hold the Ohm’s law ?

5 ﬁé’r;&%’fﬂ.ﬁw%fﬁqmﬁm%mm%|mﬁ? 2
It is necessary to use satellites for long distftnce T.V. transmission. Why ?
sqar / OR
ufzq&hvrargﬁm?ﬁsﬁmmW#mmaﬁm.mmm
g afts g @ w9 7

if the earth did not have an almuaphur» would its awrdgc surface

temperature be higher or lower thun wlmt 11 is now 2
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6 Provdl fawa qr ardym s # Wlﬁ' W oy gy 2
¥ 2 - . ¥ I'|
What effect of frequency of incident T8ation stopping potential

wum / OR
Fd G # ofrem fufa

Write down the definition of work filction,

T Tetefga & o afweig adee fafle 2
, . 1
() “2sRa ® |1 , .¥q
88
e |
(q) -l“gp O po-wm
Write down the nuclear cquation for the following
, 22 o =3
ta) BE'RU of 1, -decay é
- :h:h::
_ $2 _
{b) s P of | B ~decay é
OR =
fofafga % fom wfugm s fufao “5
g
: 242
i #y c';‘lf)h' | ,-89 E“
'\13 * 3 S
{'] hwlzlf. + n‘}!fh T wrsrra g:
i = :
Write down the nuclear equation tor the following 2
L O
(a4} ‘::_“"f‘” of 1 . -dt.'i.‘ii}' 3
TiE, . 2id
(hi -;:_—" v "yl h s
§  wm oa oo Peiuy ovm gl dord itge A
Wrate Cihans daw and s famigenons
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Phe oo o b wolls ane §ooand 1 amd st wiwinal 1ot
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1. 251W?£I%ﬁamﬁamﬂnammmﬁmﬁa

F 9T O WROH T\ ey
Find the resultant resistance of 19,29 and 32 resistance connmt‘eﬁ

in series and parallel combination.

s / OR
Mwﬂmﬁrﬁwr&gﬁmw 12 vV ¥ oy &b @
arafs vty 040 ¥, mﬁ%?ﬁﬁﬁmﬁﬁyﬁzﬁqum
= oEam 7
The storage battery of a car has an emf of 12 V. If the internal reslsgpcc

of the battery is 0.4Q, what is the maximum current that can be dmawn

from the battery ? http://www.mpboardonline.com

fTer ¥ R @ 99 arass s fafeg o

Write the main three essential conditions for interference.

st / OR
)

yepTiyre g @ & ¢ fea Rl W wR wT ¥ ?M@W@F’TW‘ZI
What is optical [i brc ? On which prmc:lple it works ? Write on?\use

wfyE Wi | -
Derive formula for the force acting between two parallel current
carrying conductors. (0

s / OR I
C’\\.

wmmﬂw%mﬂ“mmh%mmm
e

Obtain expression for the magnetic lu,ld on the axis of a LllLll]d‘!‘--&l)ll

afer

due to flow of corrent in it
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Obtain expression for a.c. circuil Py Ve~ Lrmy 7 €COS9.
sqn / OR

T
() woaradt @ew & farme g 300 V ¥ | rms Qe fead sl 7
(®) vwaradt aftey H urg w1 rms 99 10A ¥ ) By arg ey ol ¢
(a) Peak value of alternating voltage is 300 VFind the rms value.

(b) rms value of alternating current is 10A(JRind the peak valuc
of a.c. N

f-A

mﬂaﬁuqam-m%mm%—;}:ﬂ;—'famm;

Derive following cxpression for the refraction at a spherical surface

TR BV

— e p—

vV U R

aqm / OR

) o1
FAAW TN A L0 w P wifm, e dend geftg oad 8§ ¥

vV U

Deduce following relationship between focal length f of a concave mirror

[

R TR,

f v u

! Pt « x s . h
Where the symbols haye their usual meaning,
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(4 wgw gemdl B TR hg g AR AW SRR WAdS sEa % WO 4
qF e BRA, SR e g
(i) o g & ¥ |
(i) e gfe W LEE Th oo g b
Draw the labelled diagram of compound microscope and establish an
expression for the magnifying power of a compound microscope when
the image is formed at :
(1) infinity vision
(1i) least distance of distinct vision.
w43 / OR
@Tﬁﬁﬁa{ﬁaﬁmmﬁ%ﬁi@fﬁmﬂmmmtﬁm%m?
witg g, JEd sfem wiate=
() oFd W & & |

(i) w= e H graw g w T |

Draw the labelled diagram of astronomical telescope and cstablish cxpression

for the magnifying power of it when the image is formed at :
(i) infinite vision

(ii) least distance of distinct vision

15 TR deae T fraves # wgw 9 oAt fefe 4

Write four differences between nuclear fusion and fission.
s [ OR

() wEE - S wvgeran waw @ ¥ 7

(%) wmwdéﬁmqm?ﬁﬁiwlﬂfﬁmaﬁﬁm :

(a)  Write mass-energy relation,

(by Calculate the energy equivalent of 1 g of substance
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16 oy foyy = % .ty frys & T e, an T fign e fex a7 s
e oy & Aeen w fw uoen W B

What is meant by the cledric dipole 708255 wapression for the intensity
of electric field at a poim in cnd off PO-IYon due 1 an Cectric dipole.
o I.?R

P 5 Bwt T Pk e 2 7

Obtain expression for the capacity of paralic] plate condenser. On what
factors it depends

17 mm#ﬁmmﬁﬁrwﬁah’i,f,k;m,mwm 5
(iy nfromn framar

(iiy whmg % gfyaon
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(iii) frgmarar Am 9 4 e

In an alterpating circut containing an inductance, capacitor and resistance
are connected in series. Find

fiy  Resultant potentisd difference anony three

{1 Tmprdasce of iy

Ay PRase defferenee Htwepy, ety ) hiltereree and curremt

weert [ OR
4--—--..-.-..{ . i I 3 " ¥ PP
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fyy Trgamp CEEI Bn R
w) == fem fawtr 97w oog % 7
(H) SWE qE W & ;e g

gy cmiwa Py (ACoartas o F

L) TR g A f!ﬂrﬁ-t ‘E i s FTA Y

, ¥
(a) What is dyvnama {Zencr ')

(b} Omn which principle 11 woig !

{vr  Wnite man pans th it

(dy J.abelled disyram .ll:‘\.(' Conorator )

(e} Write the namec of law - od 1o find the direction of induced

current. e

e

(dy LED
(@) AT TN w ARS (EAE 7 %M O YA
Write short notes : |
{ay LED
(by Explain the usc of a zener ¢iv'e a5 a volage regulator.
sy [ OR
T R R N R CE i el ap—— -
# i g faE e 4roE g EEEEE o

What is a rectifier ? Praw circuit da2tam to explain the use of a
P-N junction diode as_p half wave reclifier,
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